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" 'Name. .

Probability.

1. A bag contains 30 pieces of candy. There are 15 grape, 7
cherry, 3 lemon, and 5 strawberry. What is the probability of
drawing a lemon?

2. P(notA)=

3. John has a bag of jelly beans. He removed a bean,
recorded it, then replaced it. He repeated this process
several times. The results are in the table. What is the
experimental probability of him selecting a jelly bean?
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as, 2 blue marbles, and 4 yellow
theoretical probability of pulling a red

:
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5. What is the probability of spinning the spinner TWICE, and
landing on a 77

6. What is the probability of rolling a 15 on a number cube is:

A. Likely

B. Unlikely

C. Certain

D. Equally likely

7. Experimental probability means:

~ A. What will happen
B. What actually happen
C. What you think will happen
D. What should happen

8 What is the prcbabiﬁty of ﬂlpﬂlng a coin and it landing on
heads? |

ing a purple marble?

3_:-ﬁb'lu3, 2 yéliow, 4 red, and 1 purple.
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10. A game involves conducting an experiment and gathering data to find the
experimental probability of an event. What is a good first step for finding the

experimental probability of an event?
A, Make a square to show an area model and then divide the sections in equal

sections.
B. Determine the outcomes of the event and make a table to record results

C. Muttiply the probability of the first event and the probability of the second event

D). Make a table to show results and divide the results in equal amounts according
to the outcomes.

11i.The game show host asks students to chaose a marble at random. What is
another way to deseribe the word random?

A, To select based on the color most preferred
B. To select aif the marbles at one time
C. To select the color of marbles least preferred

D. To select with no regard to order or preference

12. A dartboard has 4 equal sections, of which 2 are orange.
What is the probability that a dart will land in an orange section?

A 1/2

B 2/4

C. 50%

D:.All of the above
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1 Josiah and Tillery have new jabs at Yumyum’s icé Cream Parlor. Josiah is Tillery's manager. In their first
- year, losiah will be paid $14 per hour, and Tillery will be paid $7 per hour. They have been toid thatafter
ZEYPZW. Year with the company, they will each be g'iv_en a raise of $2 per hour. Isthe relationship between
Jasiah's pay and THiery’s Pay rate propartional? Explain your reasoning using'a table.

2. Arecent study claimed thatiin any given month, for every 5 text messages a boy sent or received, a gir!
i or received 7 text messages. Is the relationship between the number of text messages sent or
: d by, boys propartional to the number of text messages sent o received by gitls? Explain your
ng a graph on the coardinate plane.
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3 "'3 Whirt"a song is sold by an anline music store, the store takes some of the money, and the singer gets the
.~ rest. The graph below shows how much money a pop singer makes given the total amount of money
mugﬂt in by one popular online musit stare from sales of the song.
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50.00 520000 $a00.00  $600.00 m&u 00 $1.000.00 $1,209.uo
Sales by an Onfine Music Store
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| Lesson 11: Ratios of Fractions and Their Unit Rates
(PhEL i s

Which is't

the better buy? Show.yaur work and explain your reasoning.

W

3 %lh of turkey y for $10.50 Z% Ib. of turkey for $6.25



g

ol § 1
1 o
| F + g
& < S '
f :




R S """-,'\- SR R e ]

l.e.'._s_:_r_n 35

£ mrufﬂum a0 T e i o e 12 )

{ El’ﬁmmullars} HE o g 27 o 30 £




TR e 1Dy 3 =

Jta'rne_:. : _

b ;ﬁl.essahd Identifying Proportional and Non-Proportional
~.=__‘Relqtlpnships in Tables
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‘mg Muiar cr:tagan w&m arside Iangth of 20 inches using wire, haw much wire does she need?
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ibiE m dﬂtﬂ'ﬂﬁﬂﬂmtﬂtﬂl tost of the soda. ]!J'hrl M'Ihlt ﬁf?nu djﬂﬁﬁﬂ'le costofa 12—133‘3'{

~ Lesson 7: Unit Rate as the Constant of Proportionality

Susan and John are buying cold drinks for a neighborhood picaic. Each persort s expected to drink one can of soda.

ﬁsaﬁiiﬂ!ﬂ'laﬂfwu TR e e R dfmda.wmﬂumbe,prgnplemrmngﬂﬂniminvnuwlilbﬁ
tiply the unit price for a can of sod of soda by the number of

sodas, you will determine the total cost of the sodas. Who is right, and why?
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